Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
1,702 x 100000 = 3,498 x 10000 =
2,552 x 10 = 2,415 x 1000000 =
9,025 x 10000 = 9,813 x 1000 =
6, 112 x 1000 = 5,215 x 100000 =
9, 894 x 1000000 = 10,226 x 1000 =
7,56 x 10 = 9,699 x 10 =
4,779 x 100 = 6, 187 x 100000 =
5,881 x 100 = 2,181 x 10000 =
4,396 x 100 = 3,784 x 10000 =
5,735 x 1000 = 6,915 x 1000 =
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Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
1,702 x 100000 = 170200 3,498 x 10000 = 34980
2,552 x10=25.52 2,415 x 1000000 = 2415000
9, 025 x 10000 = 90250 9,813 x 1000 = 9813
6,112 x 1000 = 6112 5,215 x 100000 = 521500
9, 894 x 1000000 = 9894000 10,226 x 1000 = 10226
7,56 x 10 =75.6 9,699 x 10 = 96.99
4,779 x 100 = 477.9 6, 187 x 100000 = 618700
5,881 x 100 = 588.1 2,181 x 10000 = 21810
4,396 x 100 = 439.6 3,784 x 10000 = 37840
5,735 x 1000 = 5735 6,915 x 1000 = 6915
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